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(Reflection of Light)

1�
���T+
��.
-��	
������
�"#���
 ���	
�*���7E
H�!
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 �� �/0�
 ��.
 �	�
���8��1
 M
 ��
�	
 ����	
 ��.	
 ���� �
 -��0
��(+	
�� ��0�
��.
�	�
���8��1 �

1��
��

����(0���	
��(+
�W�(�	
�)��� 
��� �
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���
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3
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 ����
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 (C)

�2	�:�	�
 ���O� 
 �	�$�1 �
 
��	�
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�
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���8��16
 ����
 �!���	
 �)���Y(��
 ��� � (0���	
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 ��� ���?�
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3
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-��	
�"#�� �
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� �
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B
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	� �
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�
B
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�'$()	�
��������
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 ��(+
 �:�	�
 ��?��H' 
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(a) � ���"�!� (b) $����"�!�
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�'	 � �
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�	 �
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 1��
��?���
 �� 0
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�� �
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�	 �
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�
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��
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��)
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�������	
�	���
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�� �
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�
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��� �
�)���Y(
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�'	 �
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��� �
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��� �
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6.2.1  ���!������"�!��"%�������� �&�'(�

(Image Formation by Spherical

Mirror)
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 �� ���;
 ����
 ���
 ��
 ��H���
��� &
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 ��
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 ��
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 ��
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 1��
 �	�� �B	
 �]� �
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 1�
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��� �
����
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6.2.2 �+,�#������-�./��� ���!��"�!��"%���
'(������� �&���������+
(Representation of Images formed
by Spherical Mirrors using Ray

Diagrams)
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6.2.3  �� � !������ "�!���� �������� ����
��#������:����;�
(Sign Convention for Reflection by

Spherical Mirrors)
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